Archimedes Principle – density and Upthrust  
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AIM

The aim of this experiment is to use Archimedes principle to find the density of water and brine (salty water).

Two possible sets of apparatus are shown in the diagrams.

WHAT TO DO

1. Measure the volume of each of the blocks provided using a ruler

2. Measure the volume of the irregular object (probably a stone) by immersion.

3. Measure the mass of each object in air and calculate its weight in air

4. Measure the weight of each object when totally immersed in:

(a) water

(b) brine (salty water)

5. Calculate the apparent loss in weight of each object in water and in brine

6. Use your results to calculate the densities of water and brine.

7. Measure the densities of the two liquids directly using a beaker and the top pan balance

8. How do your two values compare?

THEORY

Density = mass/volume

Weight = mass x g = mass x 9.8  (Answer in Newtons if you have used metres and kilograms for your measurements of length and mass)

Upthrust = apparent loss of weight = weight of liquid displaced = volume of liquid displaced x density of liquid displaced.

So if you can find out the apparent loss of weight of the object when immersed in the liquid you can work out its density.

Write up your experiment.
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